T&T6 3.10 Applications of deMoivre December 09, 2013

Complex numbers

Section 3.10 Applications of de Moivre’s Theorem

Text & Tests 0 ©

Simplifying expressions of the form (cos 8 — i sin )"

{ Example 1 )

a +bi

Simplify (cos %9: sin %)6, giving your answer in rectangular form.
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Expressing cos nf and sin nf interms of cos # and sin @

{ Example 2 )

Express (a) cos 26 in terms of cos 6 (b) sin 36 in terms of sin 6.
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Solve = (X ﬂ: b Eu) =16
X =GF Y
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Given z =a + bi,
How to find the nth root of a complex number . . 2= r[cos(8+ @ isin(6+ 2,@

where n € N is the general polar form of z.
{ Example 3 )

Solve the equation z3 = 8i. Z= .7 ﬂcd's?
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G m@, W= g(a:s(%-h?nu) +is.'..C'{-r2~1r))
2% 2= )= [@ (cos (% +oun) +is.'-\CL:-r2u1r);

Ao moivpe . 2= g'ﬁ[cps £(S+20m) i Gin 5 (Tt2u)
W w0 27 9 [cs 5(L+20m) +ising(Fr26,
=2(cos G +i5in L) = G40y &
A=l 2= 2[,,.; é’(‘{’fﬂ:\f)i—iﬁ'n%(_ﬁ‘i-h
X Conjugetes =2[cis ] = -G+u*
e 2, > 2[cis g(t{ftm))

=afcs ¥ = p-2;



T&T6 3.10 Applications of deMoivre December 09, 2013

(hacle — ANSHEL IN EXALAPLE 3

——

s (~Qi>3 = B 7
(2Y - €ar(s)
=G4 7))
= ¢
" e/xlww( (\ﬁ +“)3“‘ (-3 "'“)3
ym,\ oo i e

/fgo



	Page 1
	Page 2
	Page 3
	Page 4

